Quiz 8
BIOL 100
1.  What process is most likely to keep two separate populations of the same species 
evolving together going forward? 


A) Genetic Drift 


B) Gene Flow

C) Natural Selection

D) Nothing
2. The example of an Arizona lizard species that is found in white or black is an example 
of what…?
A) Stabilizing selection
B) Directional selection
C) Drift
D) Disruptive selection
3. When an individual migrates from one population to another, they bring their alleles with them.  This is an example of…

A) Natural selection 


B) Genetic drift 


C) Gene flow

D) Artificial selection
4.  If a population is in Hardy-Weinberg Equilibrium, this means it is…? 


A) Evolving for that trait 


B) Evolving for all traits 


C) Not evolving 


D) Devolving
5.  If an allele is considered to be fixed, that means it has… 


A) Stayed the same frequency 


B) Increased to 100% 


C) Decreased to 0%

D) Balanced at 50%
6.  Which is a system where one gender chooses mates based upon some specific 
characteristic?

A) Artificial selection 


B) Sexual selection 


C) Gene flow 


D) Disruptive selection 

7.  Which micro-evolutionary process below has the greatest effect on small populations? 


A) Mutation 


B) Non-random mating 


C) Genetic drift 


D) Natural selection 


E) Gene flow 

8.  The genetic diversity of humans is less than expected, given the age of our species.  
Human genetic diversity was reduced due to what kind of event below? 


A) a cline 


B) a bottleneck 


C) relative fitness 


D) genetic drift 

9.  Sometimes males of one gender battle to win the chance to mate with females in their population.  This results in what kind of effect? 


A) sexual dimorphism 


B) gender bias 


C) allele fixation 


D) artificial selection 

10.  A large population of laboratory animals has been allowed to breed randomly for a 
number of generations. After several generations, 25% of the animals display a 
recessive trait (aa), the same percentage as at the beginning of the breeding 
program. The rest of the animals show the dominant phenotype, with 
heterozygotes indistinguishable from the homozygous dominants.


What is the estimated frequency of allele A in the gene pool? 


A) 0.05 


B) 0.25 


C) 0.50 


D) 0.75 


E) 1.00 

11.  Heterozygote advantage is seen when the heterozygotic genotype is more fit to the 
environment than either homozygote.  Which below is an example of this? 


A) Malaria 


B) PKU

C) Insecticide resistance 


D) Sickle-cell anemia
12.  In peas, a gene controls flower color such that R = purple and r = white. In an 
isolated pea patch, there are 36 purple-flowering plants and 64 white-flowering 
plants. Assuming Hardy-Weinberg equilibrium, what is the value of q for this 
population? 


A) 0.60 


B) 0.64 


C) 0.75 


D) 0.80
13.  In mouse coat color, several genes are involved.  This results in a bell curve 
phenotypic distribution.  In this habitat, a drought is experienced and the habitat 
in general becomes lighter in color.  This causes mice with lighter fur to be more 
successful at hiding (and therefore surviving) and shift the bell curve toward a
the lighter end of the distribution.  This shift in the curve is an example of which 
below?

A) Directional selection
B) Disruptive selection

C) Stabilizing selection

D) Sexual selection

14.  After a disease has passed through a population of cheetahs, the allele frequencies of 
the next generation are affected by the allele frequencies of the original disease 
survivors.  This is an example of?

A) Gene flow

B) Founder effect

C) Migration

D) Bottle-neck effect

15.  Which below is not a condition of Hardy-Weinberg Equilibrium?
A) No natural selection

B) No mutation

C) No random mating

D) Large population

